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s 1,750,000
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< 488,719
Al 13,443,811
HMSISHM 2= 4,067,713 3,417,344 650,369
< 317,000
Al 3,750,713
NS oy 2,482,160 2,389,726 92,434
< 274,500
Al 2,207,660
ZEAIS AR 490,600 479,000 11,600
202 44l 6,000 6,000 0
01 S LHOIYI 6,000 6,000 0
OQHLLHIE =& 6,000
203 YR =&l 3,000 3,000 0
03 AIHF=XH R =AH| 3,000 3,000 0
Ouns & MSAY AIMFZ 3,000
306 23 470,000 470,000 0
01 &3 470,000 470,000 0
Ozt 23 170,000
OERITHAEAE ALY 300,000
405 RH&HF S HI 11,600 0 11,600
01 AL EZFH S 11,600 0 11,600
OARa Xt 2¢ 300,000 * 114 3,300
OAMEA TV 7L 1,300, 0002 = 1CH 1,300
OAMR4A THEE 2 7,000,000 » 14! 7,000
SNSRI (SLESAY) 330,000 330,000 0
306 243 330,000 330,000 0
01 &3 330,000 330,000 0
OFSHE NS EH(AMSDEHAY) 330,000
TSANLRRA(EX) 101,500 108,526 27,026
306 =93 101,500 108,526 AT,026
01 &= 101,500 108,526 AT,026
O22Y A (MdSAMSHETHE) AlHl 2
g= 101,500
WA HEAY 677,060 597,400 79,660
306 =3 677,060 597,400 79,660
01 &3 677,060 597,400 79,660
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OtHstd stxt= Ol AHXI& 5,000
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Al 2,500
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< 105,000
Al 245,000
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OL&M SHAY (NS W) 350,000
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Al 245,000
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< 167,000
Al 361,000
08 WKII20HStE X 528,000 474,800 53,200
O3N2 FHEZWA XA (2Y) 86,000
< 34,400
Al 51,600
OJl=g10n A3AAMY 130,000
< 39,000
Al 91,000
OEdstn BEELHAI 72,000
< 21,600
Al 50,400
Ounsed MHLAY 100,000
< 30,000
Al 70,000
OWXds=z0E &d=52 &8 54 40,000
= 12,000
Al 28,000
O SHAY (&) 100,000
< 30,000
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Odets: BMNs 8453 NIAY A<
20,000 *81.25A] 2t*10JH A&~ 16,250
& 6,500
Al 9,750
FOIXX Dl et 3t 47,000 59,500 A 12,500
XX ALEE 29 47,000 59,500 A 12,500
201 et d| 11,000 12,000 A 1,000
01 AP 2t 2| H| 1,000 2,000 A 1,000
OXXAIEEY 22| 1,000
03 A2 H HI 10,000 10,000 0
OXXIAEY AL TNMEHES
2,000,000& *504 A~ 10,000
202 04| 2,000 2,000 0
01 2L I 2,000 2,000 0
XX ALEE 2K dH] 2,000
301 et A= 18,000 29,500 A 11,500
09 #HAIAHI BEAZ 18,000 21,500 A 3,500
OEMpPs T2 HEMA| L S2EHF
20,000 x50 8K A 8,000
OXXIAIHE Z2 Ms)lE
20,000 100 «5IH A 10,000
405 KHo&HFE S HI 16,000 16,000 0
01 AL E B F S| 16,000 16,000 0
OXXAEY =252 2,000,000 *8IH 16,000
HE23HEH 29 881,323 453,528 427,795
HAESSHEH FAI2Y 2 s#HAZH| 600,283 238,050 362,233
101 e1214| 1,953 1,580 373
04 J|IZtH2ZXNEE S 1,953 1,580 373
OWMEI3IHEH HFAFYH Hx & 24D 22
68,900& x4 Y x4 3] 1,103
OWA2edEH XA X BA(EHIUR)
141,510 *3H x23| 850
201 et 9| 3,600 3,600 0
01 AR 22l ] 3,600 3,600 0
OWHEES3IHEH R0o1AH| 100,000 1200 & 1,200
O&EI| &Yl etd 2t 200,000 x 1200 & 2,400
206 M = dl 1,000 1,000 0
01 X2 4| 1,000 1,000 0
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OEdl & M=HM 7 500
401 AlEHIZL £ 0HY| 537,630 163,000 374,630
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96,000,000 *0. 9% 864
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OEERsdH X2 X & Aoal == Z A
160,000,000 *0.72% 1,152
405 RHoHFE S HI 56,100 68,870 N12,770
01 AL 2B F S| 54,100 63,870 N9,770
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292 MEID| 2,500,000 *6CH 15,000
ASHAZ D (AR A) 600,000 =1 CH 600
HCOLLEZXH 2,000,000 =1CH 2,000
OTZ2NEH A2l 1,000, 000 =14 1,000
HIT AlAd 2,000,000 =14l 2,000
oo A 3,500,000 «3CH 10,500
MLHE AEHO= 500,000 «2H4 1,000
=242 Hol=2 400,000 204 8,000
=2E X 150,000 *60 4 9,000
02 & AR 2,000 5,000 A 3,000
OWMEE3HEH =2IH EAFL 2,000
DMPPE Z2)d 29 281,040 215,478 65,562
101 e1214| 14,496 13,178 1,318
04 J|12tHIZ22NEES 14,496 13,178 1,318
OR0=01Y 22X B
8,350 x1H x7 Al 2tx248L 14,496
201 et d| 60,044 60,000 44
01 AR 22l ] 22,844 22,200 644
QEMIESES (2AHQAE2AA L L2 DA 3,200
OZAMRAFT L L 1,200
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SN DSUSD
o EEHESSH

fo

G2l HEMZUGHI|ME 2 (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
201 Bt 5,000 5,400 A400
== 2,500
Al 2,500
01 AP 22| H| 5,000 5,400 A400
OAdFYAAMNEN= 2,000
= 1,000
Al 1,000
OJIgHM UEKZT *FZAY 3,000
= 1,500
Al 1,500
s 243 11,665,265 5,611,448 6,053,817
g 1,750,000
bl 294,004
= 104,388
Al 9,516,873
MEHE 4 650,814 628,826 21,988
J| 294,004
= 65,388
Al 291,422
MEHNSDA 2Y(2X) 34,600 29,600 5,000
= 8,880
Al 25,720
307 212t0| & 34,600 29,600 5,000
o= 8,880
Al 25,720
02 DIZHE AAIE E X 34,600 29,600 5,000
OMeEH=wa AtY 34,600
& 8,880
Al 25,720
Bt MEHSK S BHXIASE(EX) 160,848 153,648 7,200
J| 80,424
Al 80,424
307 2iz2to| & 160,848 153,648 7,200
J| 80,424
Al 80,424
02 QIZIA AAIE E X 160,848 153,648 7,200
Ot MEH =X X B XIAHS 160,848
J| 80,424
Al 80,424
H2AMMEHNSNESX BHXIAIS(BX) 134,040 128,040 6,000
J| 67,020
Al 67,020
307 QI2t0| ™ 134,040 128,040 6,000
J| 67,020
Al 67,020
02 AI2AtAMAIE E =X 134,040 128,040 6,000
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2N nEMs
3 s 243

& daHs |4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz MEMSAEI HHXIALS 134,040
J| 67,020
Al 67,020
MEHZRY 29 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
02 HAFAANFEX 6,000 5,000 1,000
O8tHHEZ2 Hoz2eA =2 29 6,000
MEHZTNY 2H(EX) 34,760 34,750 10
= 6,645
Al 28,115
307 QI2+0 & 34,760 34,750 10
< 6,645
Al 28,115
02 It S AIHE L 34,760 34,750 10
QMEzuas 2H(EX) 34,760
< 6,645
Al 28,115
2adE SEFWY 2H(EX) 10,140 10, 140 0
< 3,020
Al 7,120
307 12+l & 10,140 10, 140 0
< 3,020
Al 7,120
02 It M AMHEE 10,140 10, 140 0
Ofad 5704 24 10,140
< 3,020
Al 7,120
MBS £50 2/ 1(2X) 46,170 44,000 2,170
< 13,851
Al 32,319
307 21201 A 46,170 44,000 2,170
< 13,851
Al 32,319
02 QB AANHEX 46,170 44,000 2,170
OMENE S522(Bx) 46,170
< 13,851
Al 32,319
ATZLHOISHE NH(BX) 183,680 200,320 ~16,640
J| 128,576
< 27,552
Al 27,552
301 LBt A 183,680 200,320 £16,640
J| 128,576
< 27,552
Al 27,552
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01 MI2EZE+06l= 183,680 200,320 A 16,640
OAZ=2%E 0l EEA A Y 183,680
J| 128,576
< 27,552
Al 27,552
SOtEda AF g 40,576 23,328 17,248
J| 17,984
< 5,440
Al 17,152
301 et a3z 40,576 23,328 17,248
J| 17,984
< 5,440
Al 17,152
01 MEIBEE 253 40,576 23,328 17,248
O =0t E X3 A 40,576
Jl 17,984
[ 5,440
Al 17,152
HMESA HE 2 X3 1,866,890 1,494,944 371,946
HsedAL 29 X 285,000 164,200 120,800
201 Let24d] 8,300 7,500 800
01 At 22/l 8,300 7,500 800
OMsSEAXNE SFJ Sl 3,000
OM=sla 822 MH S 4,300
OMdEM=wa S8JJ] =l 1,000
202 O4dl 5,100 5,100 0
01 =S LHAYI 5,100 5,100 0
OMsEA FXI=2 5,100
301 et a = 1,600 1,600 0
09 AL HI B A S 1,600 1,600 0
OMSEAL AHEAS AR S 44| 1,600
307 21201 A 270,000 150,000 120,000
02 IZtE S AIHE L 270,000 150,000 120,000
O&=dHd0letEHE XA 10,000
OFSES XA H2AA2HE =3
ERaDNR] 6,000
Od= % THe MsUsl X 20,000
o4& ZeM=sds XA 4,000
OdS0d dEM=UE &4 10,000
OHdet=EM=Els & 200,000
Odt=ZUMMEU =& 20,000
M= A &t 30,000 30,000 0
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
301 dEtEAZ 30,000 30,000 0
09 HALAHIEA = 30,000 30,000 0
O&= & T2 M=sUa &It 30,000
M= X3 285,000 272,000 13,000
307 212t01 & 275,000 267,000 8,000
02 Q2B AMAIEE =X 6,000 6,000 0
OXFMC M= ESE WAEAY 6,000
03 AAHNNEE2IHIES 269,000 261,000 8,000
OY3A MEe3s 29X 182,000
O&e MEe3s 29X 60,000
OFLHM &l M=XZ X BiXl 27,000
402 QI2HX 20 & 10,000 5,000 5,000
01 DI XI2AIE E X (XM THE ) 10,000 5,000 5,000
OFOMO MEHUE XN3AAMY 10,000
M= A X & 21,890 21,024 866
101 @121l 6,890 6,024 866
04 JI2ZtH 22 XNEE 6,890 6,024 866
O=H & =32 d=sla gz Xd 22 6,890
201 L2 A Y| 15,000 15,000 0
03 @ AtE G 15,000 15,000 0
ONMESEAXA 15,000
dXEd FAUXNNI L AL B 153,000 82,000 71,000
202 (4] 3,000 2,000 1,000
01 2L Y] 3,000 2,000 1,000
OdXlz2d KX 3,000
307 QI2t01 & 150,000 80,000 70,000
02 DI2HZAAIEE X 150,000 80,000 70,000
O&Xl=sd SN L HAILBHX A 150,000
d= 502 HUA 3 15,000 15,000 0
307 QI2t0| ™ 15,000 15,000 0
02 DI MAIEE X 15,000 15,000 0
OF&ZE M= S32H LA U3 15,000
= 2 =W 3 40,000 40,000 0
307 212t01 & 40,000 40,000 0
02 DIZtZAAMEE X 40,000 40,000 0
OFgM J18 =2 2=U3 40,000
=S =2 HHEQUE 3 20,000 20,000 0
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2N

g s 243
el MM OHE ¥ XS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 30,000 30,000 0
02 PIZHEHAHEE 30,000 30,000 0
O &8 &= OtAdEUI 30,000
GRANEH &= ZF=UE 40,000 40,000 0
307 eIzl & 40,000 40,000 0
02 It M AHEE 40,000 40,000 0
O DeotE =M d=U3l 40,000
ANEI 203 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 ItFAAHE X 10,000 10,000 0
OAZEI 2503 10,000
AMEI HOIEZ el 10,000 7,000 3,000
307 21201 A 10,000 7,000 3,000
02 IZtE S AIHE L 10,000 7,000 3,000
OAIZEIl HOolE=THE 10,000
ANEDI 203 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
02 PIZHEHAHE L 5,000 5,000 0
OAEIl &30z 5,000
AMEI BHEQIE WS 8,000 7,000 1,000
307 glz2tol & 8,000 7,000 1,000
02 HAFHAANGFEE 8,000 7,000 1,000
OAIEI| BHESIEHE] 8,000
ANEI =S 3 6,000 6,000 0
307 21201 A 6,000 6,000 0
02 QIAtFAAHEX 6,000 6,000 0
OAZEIl =ZU3l 6,000
AMZI| Ok 01 &l 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
02 It M AHE L 7,000 7,000 0
OAIEIl Or= U3l 7,000
AMNEI E2U3E 8,000 7,000 1,000
307 glz2tol & 8,000 7,000 1,000
02 It M AMHEE 8,000 7,000 1,000
OAEIl E320U 3 8,000
ANZI| ZABH R CHSE 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
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X ZH -
L= B

el

SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
02 HAFHANGEEX 6,000 5,000 1,000
OAZEIl AUl 2TH3 6,000
ANZEI =303 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 It HAMAEE 10,000 10,000 0
OAEI =103 10,000
ANEI H= g§3208 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
02 (It HAMAEE 20,000 15,000 5,000
OL3ANFI =2 2E &370H3 20,000
ANEI BH2=U= 9,000 9,000 0
307 gl2tol & 9,000 9,000 0
02 HAHFHANEEX 9,000 9,000 0
OAEI| EBHHE U3 9,000
AZIl HLUAE 7,000 7,000 0
307 g1zl & 7,000 7,000 0
02 LIt MAHEE 7,000 7,000 0
OAIEII HUATHE 7,000
gHA HOHS M3 6,000 6,000 0
307 clztol & 6,000 6,000 0
02 It HAMHEE 6,000 6,000 0
OL&3Al Zoie M=zl 6,000
d= AU 90,000 80,000 10,000
307 21201 A 90,000 80,000 10,000
02 UAHFHAEEE 90,000 80,000 10,000
OWSEHAECEIZI = SM £ AZJIUHE 90,000
MEHE FAHUSE 25,000 0 25,000
307 glz2tol & 25,000 0 25,000
02 HAHFHANEEX 25,000 0 25,000
OHEAMNEI &= Moz MU 25,000
A& Ha 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
02 IZtE M AMHEE 7,000 7,000 0
O&= Xelsh &2eted JNEA U3 7,000
SHUtSUHE 20,000 10,000 10,000
307 glztol & 20,000 10,000 10,000
02 It HAMHEE 20,000 10,000 10,000
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SM: REUSD
g s 243
el MEAIR 29
SA - BB (3) - NRAL - B Of & o il
NVi=td - 2sRSEd= 431,843 397,000
OXFA2SFIIR el 330,783
== 229,798
- = 2,884,300 1H«12& 34,612
- 4= (124012 2,844 300 x2H x12& 68,264
- 2= (10 018H) 2,690,500 «2H «12& 64,572
- 4=(940/8H) 2,597,900& x2H 123 62,350
2+ 15,843
-&d= 2,884,300& x20%+ 1 »23] 1,154
—d = (12E012F) 2,844,300 *50%+2 L *23] 5,689
- 2= (104012t 2,690,500%45%*2H 23| 4,843
- 4= (94 0] aF) 2,597,900%40%*2H *23| 4,157
24 Jtita 4,080
-10&~144 60,0003 »4H » 128 2,880
-54~9H 50,000 »2H « 122 1,200
g Mz AH| 130,000 7 122 10,920
ESE=RE ]| 13,080
-&4= 250,000 x1H «12& 3,000
-& 140,000& 6 «12& 10,080
Y EFOHI 22,982
-4 = 2,884,300& x60%* 1H »23| 3,462
-d 2= (123 018H) 2,844,300 *60%*2H »23| 6,827
~& 4= (10 012H) 2,690,500 *60%*2H *23| 6,458
~d2(94E0|2h) 2,597,900 *60%+2H *23 6,235
sdd 350,000& »7H «12& 29,400
NEX=Z 150,000& »1H «12& 1,800
IHE=E 2,880
—bi < Xt 40,0003 x2H =128 960
L IPNIE 20,0003 x2H 128 480
-=MAH 60,0003 x1H » 128 720
-F22I= 20,0003 x3H » 12 720
OXF2SHIIR 294l 101,060
S0z 5,000,000 51 CH 3| 25,000
< 25,000
thal & &l 4,000,000& 54 CH 2l 20,000
S 14,000
Al 6,000
=SSl 50,0003 x6H 300
o WH 3l 2,000,000& =13l 2,000
& X =&l 90,000 7 20 23] 25,200
o=l 600,000& »7H »23] 8,400
g4 sAKE
8,000 24 x7H 152U x12& 20,160
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,908, 198

500,000

= [

2

2,910,678

5,747,520

500,000
500,000
496,400

S LRE-E
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496,400

H=I1etA &
(2x)

I

SELE

{0
o

=
=)

496,4
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S X0
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742,000
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917,622

HSAE 24

401 AIEBIZ 2 CHYI

=Py
10,000,000 & *68IH 2

29,676

01 A€ dl
e o=+

ol
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- HIJIEAIE &X

YEH SBS33A
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35,000,000 *1.08%
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C DSHSD
D HE 2H3
DA IIBAIA

I
O

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 3,950,000
401 AlEHIZL £ 0HY| 5,700,000 300,000 5,400,000
Fag 1,750,000
Al 3,950,000
01 Al&EH| 5,674,080 297,660 5,376,420
OF&ZHLULAE 2728 X4AY
1,000,000,000& *99.37% 993,700
g 300,000
Al 693,700
OZSBHSTE 27T THAL
2,500,000, 000 x99.64% 2,491,000
g 750,000
Al 1,741,000
OZSBHSTY 2T THAL
1,200,000,000& *99.64% 1,195,680
g 400,000
Al 795,680
OY2HOIEESZE MEAY
1,000,000, 000& *99.37% 993,700
g 300,000
Al 693,700
03 AlE 20| 25,920 2,340 23,580
OFSZ2HLAE 2728 LAY
1,000,000, 000 *0.63% 6,300
OZBASZY 2T ZHAMY
2,500,000, 000 x0.36% 9,000
OFSZMsEA SR LMY
1,200,000, 000 *0 . 36% 4,320
OHJHOIEZE s ALY
1,000,000, 000 *0.63% 6,300
HESALEE A2 480,198 374,678 105,520
101 Q124 H] 54,798 24,738 30,060
04 JI2ZtHIZ22NEE S 54,798 24,738 30,060
Os2HsZ22 ANEdsize 22X
(66,800 «1H 2482 )+(66,800 13 x522! )+( 24,048
100,200 x40 )
OZ2Z2H=AIE M=z
66,800& *10H x6 x33| 12,024
OZ2ZHEANE =2 (EEAUR)
141,510 »4H x5 x4 3| 11,321
Oze=2Hs28 X34 88 L MIHSA(E
Hole) 141,510 x4 H 2«33 3,397
OFEZN=E22 HA =AUER
66,800 x 1 60 4,008
201 Bt 247,710 259,550 A 11,840
01 AP 22| H| 48,000 61,000 A 13,000
OMSESAE A2 23 7Y 9,000
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2N

WEHS

M M 43
S MFIALE &5 (&)
% S 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
HE=Z 2 30,0002 504 1,500
HE#HZ 4 50,000& *30H 1,500
HE A 2500 & 30,0002 *30H 900
HECSHE Il 4000 - 50,000& 204 1,000
HE A 1000W & 100,000& » 104 1,000
ZHEX 200W -+ 60,0003 *80H 4,800
TEEX fLHBE=Z 7Y 700,000 *2H 1,400
JIEF HIIHM 2 1,000
Sgdlz 7Y 15,000& 30 x33| 1,350
oaF, 4ZH 7Y 12,0002 25+ 15H x43] 1,440
=L A0 7 26,0002 1004 2,600
1 A& H 2 O 90,000 40,000 50,000
01 A& HI 89,028 39,568 49,460
Osg=2sd 8 s
90,000, 000& *98.92% 89,028
03 AlE 2 THHI 972 432 540
Osg=2sd 8 s
90,000,000& *1.08% 972
405 XHobF S HI 60,700 26,000 34,700
01 AL ESFH S 60,700 26,000 34,700
OFgZ2r=sa UL 94 7 10,000
OFgZ2HSH 0lFU0NH 2 10,000
Ozg=rs2 LMD 2 2,500
Os28 e d(EESHSZ) 9,800
Oseg=2sd U= | (AED) =& 2,400
Og=ds2 AZEHEHE 2 26,000
g dUZE M= 500,000 0 500,000
401 Al BIZ 201 8] 500,000 0 500,000
01 Al&tl 500,000 0 500,000
OE&d A== SAE 500,000
SUASFI= MY 40,000 40,000 0
2OHQSHE 29 L RIS AE(R 40,000 40,000 0
%)
307 gl & 40,000 40,000 0
02 It M AHE X 40,000 40,000 0
O=2HM 100 ERASHEH &AA2E (AL
=i=p)] 40,000
™SI Fl 100,494 137,112 £36,618
Jl=234l 50,960 51,560 A 600
Jl23Hl 50,960 51,560 A 600
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M DEHSH
BE: BYSIAY
e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 28,060 28,060 0
01 At 2t 2l bl 28,060 28,060 0
Oget=2ZH| 22,920
O)F=224:] 3,600
Olstd ssXUHSUE OINXAAMNY &2z FA
=g 70,0003 x5H *23] 700
OQUSLIARS 442 70,0008 *12F+13 840
202 O 4l 18,700 18,700 0
01 ZLHOHI 18,700 18,700 0
OusHsl 2= 18,700
203 R =&Y 4,200 4,200 0
04 FAEIESFAL 4,200 4,200 0
ORN28E2=AH| 4,200
el 2| 49,534 85,552 A 36,018
QHE2AH(UEHMS L) 49,534 85,552 A 36,018
101 12 8] 49,534 85,552 236,018
03 RIHAZZ2XNE =+ 49,534 85,552 A 36,018
Oz aela (19,144 olet) 49,534
e 2,076,000 x1E ~12& 24,912
d2+€ 2,076,000& » 18 »50%*23| 2,076
g 125,000% 1«12 1,500
g 100,000% 1«12 1,200
d2+E Jtdts 60,000+ 1F «12& 720
HE=E(HRI) 40,0003 x1H 12 480
HE=E (Ol 20,0003 x1H 128 240
ERE=Ea ] 160,000& 18 122 1,920
2 E SO 2,076,000& » 18 »60%*23! 2,492
A2tel =S 19,3333 x13AI 2F* 1 »12& 3,016
sead 154,668 x5 x1H x 12 9,281
IS &l 103, 1122 1 »15& 1,547
o=l 150,000& =1 150
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